X g EXBEL PERCENTAGE HACKS YOU NEED TO KNOW

Download in hi-res & step-by-step video: https://bit.ly/percentage-hacks

o Simple Percentage Change 0/ A Increase Price By n% ‘ o Decrease Price By n%
o

New Number 1. Result>0 =% increase New Price = Original Price X (1 + Inrease %) New Price = Current Price X (1 — Discount %)
% Change = ———————1
Old Number 2. Result <0 =% decrease . :
—— _C7%(14D7) A\ Caution _C10%(1-D10)<— A\ Caution
- xcel follows ;
=C4/D4-1 PEMDAS,. <o Al C D \ E Increase should be D £ Discount should be
| C parenthe1$es are entered as a entered as a
-y o =\ % Change - percentage, not a whole percentage, not a whole
| New Number | Old Number) % Chang not required. 50% 120 number! 50% 50 number!
a| 12,500 1 10,000 25% .
Reverse % - Calculate the Original Price o Markup vs Margin: same numerator, different denominator! }
Increase Version: Decrease Version: Markup : Markup is based on cost Margin : Margin is based on selling price . I
Formula: Formula: Formula: Formula:
New Price New Price Markup Selling Price — Cost Price M . Selling Price — Cost Price
ainal Price — iginal Price = = - argin = , -
Original Price (1 + Inrease %) Original Price (1= Discount %) Cost Price g Selling Price

=C16/(1+D16 =(C28-D28)/C28

I C D E

=C13/(1-D13)
| C D \ E

| C E
68l New Price | Increase Original Price 12 Decrease Original Price __
16 || 110 | 10% 13 | 80 | 20% 100 28 | 250 | 200 20%
Calculate Sales Tax Amount @ o % Change from O is nhot 100%
Option 1: Divide by: @ Shortcut i Option 2: Multip'y by: CﬂlB DAP -1 CaICUIating
: Math Always Adds Up! / percentage
If the tax rate is fixed, pre-calculate ] . o o ) | C D E change from
the divisor: i » This calculation is just a variation Sales This Year | Sales Last Year|% CI m | zeroreturns
Post Tax Pri (1 + Tax Rate) of reverse calculating the original &l >ales 1his Year] sales Last Tear /o Change | Emsayyspesons
Tax Included = 258" ax Frice Divisor = ~——— | Tax Rate price a0l 500 | #DIV/0!
(1 + Tax Rate) ax Rate | Tax Included = Post Tax Price X ——————
Tax Rate : 1+ Tax Rate * In that formula we calculate the /U FERROR
.. ! .. . . . se
1+Rate  Rate  Divisor ; g”g'”a' price first, using the to handle ~IFERROR(C40/D48-1,"No PY Sales™)
110% 10% 11 i elow equation:
i New Price errors vyhen . I C D E
=C48/((1+D48)/D48) 115% 15% 76667 i =C40*D48/ (1+D48 Original Price = 141 0, denominator is Gl Sales This Year | Sales Last Year % Change
- 120% 20% 5 R N (1 + Inrease %) 0. Note: do not |~ s s A
T i a0l 500 Mo PY Sales
125% 25% 5 | = + Here, we're directly calculating replace error i
_ = 1 1 1 [o)
ELl Post-Tax PFICF' m i Post-Tax F'riCF' the tax included in the Post-Tax (\“th 100%. IFERROR Masterclass: https://bit.ly/iferrorfn
40 110 10% Post Tax Price ' 40 110 10% Price
! ' Tax Included = Divisor ] l
i * Double check with: Learn Advanced Excel!
_ 110 i Original Price =
Tax Included = —~ i = Post Tax Price — Tax Incuded ENRULL
- = ) ’ NOW!
. " k X https://bit.ly/moth-
Revenue & Expense Variance % T L i ey | s e courses

Year on Year Change
Crossing Zero

Step1: Calculate the Revenue Variance Step1: Calculate the Expense Variance $$$ o

Formula: Formula:

Revenue Variance = Actual Revenue — Budgeted Revenue Expense Variance = Budgeted Expense — Actual Expense

—IFERROR( (C43-D43)/ABS(D43),"No PY Sales™)
=D31-C31« : 1

=C35-D35%—
i D

E

- Act.

Actual Expenses | Var Bud.

O
: J
. m

E2Y Budget Expenses | 250%
- Bonus Tip
1 ]
| 12500 10,000 (2,500) B 1250 | 10000 | 2500 ) 10%
- = 000 - =000 5000 36 | (200) (100) (100} In Excel, you don't need to multiply
’ ’ 2 the decimal value by 100 to get the Explanation:
) percentage value. )
(. Use the same formula for revenue and Step 2: Calculate the Variance % + Use IFERROR & ABS to avoid
expense variance %. Select Cell > Go to the Home Tab > incorrect results and handle #DIV/0!
+ Always use ABS function for the Formula: Number Group > Change format to error
denominator, to avoid incorrect results. Variance P . Casel:
+ ABS simply converts negative values to Variance% = ———————— ercentage '
L 2. . ABS(Budget) -
\_ positive and leaves positive values as is. . J * Loss last year, profit in current year \
. + Expected result: Positive ‘.
=E31/ABS(C31)= i =E35/ABS(C35 e percentage change L . [
X C D E E + Case2: \ ;':’
o 1 . . 1l a 4
| g ER RGO CY e BRETY Budget Expenses| Actual Expenses| Var Bud. - Act. [% Variance * Lossin currentyear, profit last year y  + \
| 12500 | 10000 | (2500) .35 12500 | 10000 | 2,500 20% - Expected result: Negative
32 5,000 7,000 2,000 40% T (200) (100) (100) '50% | percentage change * ’
/ S/mlo/y

hub Mynda Treacy
TEACHING YOU SKILLS

© Copyright 2025 m Follow me for tips and tutorials


https://bit.ly/percentage-hacks
https://www.myonlinetraininghub.com/
https://www.linkedin.com/in/myndatreacy/
https://bit.ly/excel-pivottable

	Slide 1

